201 8FE KA EFIERALLT—TIL

£0| m=u BENE me (M2 uPx
745\ REZES
8O0\ H=E S, BEDH FEHEZN
1 9:00| Bk 572 1FEFEK) |S-C-R-P 14| 2| 10
2 9:14| C#k 572 1FEFEK) [S-C-R 13] 2| 10
3 9:25| Ak 572 1FEFE) |S-C-R-P-J 23 2| 12
4 9:44| DR FT: R C-R of 1| 6
5 9:47| C#k FT: R S:C:R 100 1] 6
6 9:53| Bk FT: R S:C:R:P 100 1] 6
7| 10:00[ AR FT: R S:C:R:P-J 120 1] 6
10:09| s 2 (HK7E)
8| 10:19| D& FT: v C-R 6| 1| IBfL
9] 10:23| C#k FT: v S:C-R 6| 1| IBfGL
10[  10:29| B#&k FT: v S:C:R:P 6| 1| IBfGL
11 10:37|PDA—T > REVHE—R 1FRGEHK) |W-T-Vw-F-Q 18] 2| 12
12| 10:56| AR 572 v S:C:R:P-J 6| 1| IBGL
13| 11:06] =7 Afk RAUE—R 1FE &) (W-T 13] 2] 10
14| 11:13[FLPads AL 572 R C-R 6| 1] 6
15|  11:17[FLoa=7 57 R S:C-R 8| 1] 8
16] 1122 =710 Afk RAUHE—K 1FE &K |W-T-F 14 2| 10
17]  11:33|PDA—T > RAUHE—K HERE W:T-Vw-F-Q 12| 2| 6
18] 1151 =7 Afk BUE—R R W-T 100 1] 6
19 11:55(FLoads AL 5T v C:R 6] 1] IEfL
20  11:59|FLPa=7 57 v S:C:R 8| 1| Bk
21 12:.05| =70 A#k RAUHE—R R W-T-F 100 1] 6
1211|502 (K7
22  12:26| =7 A#k RBHE—FK R W-T 6| 1| IBfGL
23| 12:30|PDA—T > P R W:T:-Vw-F:Q 6| 1| IBfGL
24  12:40| =7 0 A#k R —FK v W-T-F 6] 1] IEfE
1246| FEAD TLdr. JV L S=FIO-I PD—S  FF—F2XAM-PDIEZHZ—F
25 13:01|FLPa=7 RAVE—K R W-:T-Q 5| 1] 5
26|  13:06| C#k RAVE—R 1% W-T 50 5[ 30
27| 13:24| AR RAVE—R 1% W:T-F-Q 63 6] 42
14:.08| 5% (HK7E)
28]  1413|FLPa=7 RBH—R RR W-T-Q 5| 1] IEfL
29|  1419|PDA—T ST 1FEFE) |S-C-R-P-J 16| 2| 12
30]  14:38| C#k REVHE—R 2%:# W-T 30 3 18




201 8FE KA EFIERALLT—TIL

5

zz| R ANES EH % HEk | UP%k
1449| KEAQD 22 =F-S

31 14:54| B#Rk REUE—K 1% W-T-F 61 6] 42

32[  15:27) Ak BUHE—F 2%:# W:T-F-Q 42| 4| 24

33|  15:56|PDA—T ST R S:C:R:P-J 12 2| 6

34|  16:14| Afh RAVE—K SFEGEZER) W-T-Vw-F-Q| 24[ 2| 12

35|  16:33| Dk RAVE—R 1% W-T 17) 2| 12

36|  16:40| C#k RAVE—R 3FEFEH) (W-T-F 18] 2| 12

37| 16:51)| Bk RAVE—R 2%:# W-T-F 42| 4| 24

38|  17:13| Ak RIVF—F  HERB W-T-Vw:F-Q | 12| 1| 6

39|  17:22|PDA—T STV v S:C:R:P-J 6| 1| IBfL

40| 17:32| D#k RAVHE—K R W-T 121 1] 6
17:36| KEA D& ' F—H X -PD5T>

41 17:46| Bk REVE—R 3FE&E) W-T-F-Q 24 2| 12

42  18:01) Ak REVE—F  RB W:T-Vw-F-Q 6| 1| IBLL
18| FEADE S —F X ARk

43|  18:21| C#k RBE—R R W-T-F 121 1| 6

44|  18:26| Bk RAUHE—R HERE W:T-F:Q 12l 1| 6
18:33| g% (HK7E)

45|  18:38| D#k REVE—F  RB W-T 6| 1| IBfGL

46| 18:42| C#k REVE—F  RR W-T-F 6| 1] o

47|  18:48| B#k REVE—F  RW W:T:F:Q 6| [ »
18:56| &G D-C-B#f
19:02| 72

ETOMELE. EEIBEELHYET . HADTFIVRIZTEETSL

2/2R—=




